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pushRefund!

insertMoney_500!

pushButton BlackCoffee!

insertMoney_100!

pushButton MilkCoffee!



pushedRefund! pushRefiind?

minusMoney!
time =0
p

pushRefund!

IDLE

sumMoney >= 200
buttonView!
time =0

time >= 10
ACTION_WAIT )

sumMoney >= 300 pushButton BlackCoffee?

pushButton_MilkCoffee? s_etPushedBurton(E!}ﬂ}.
setPushedButton(300), time =0
time =0
CHOICE_COFFEE ()
makeCoffeeViewON!
time =0

makeCoffeeViewOFF!
makeCoffee(choiceButton)
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FINISH



sumMoney > 0 REFUND_MONEY
pushedRefund? refundMoney()

insertMoney_1007
setAddMoney(100)

insertMoney_5007
setAddMoney(500)

minusMoney?
setMinusMoney(coffee_minusMoney)

moneyView! é

MoneyBox




moneyView?
setMoneyView()

makeCoffeeViewON?
setMakeCoffeeView(true)

buttonView?

Coffee_Btn_View (@ @) MAKE_COFFEE_VIEW

makeCoffeeViewOFF?
setButtonView() setMakeCoffeeView(false)
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Enabled Transitions

insertMoney_100: User ——> MoneyBox
in User - 0X

Simulation Trace
TNSEFTMonEy_ 500! USer ——> MOneysox|

(MoneyBox, IDLE. IDLE, RESET)
moneyView: MoneyBox --> LedView
(IDLE, IDLE, IDLE. RESET)
insertMoney_100: User --> MoneyBox
(MoneyBox, IDLE, IDLE, RESET)
moneyView: MoneyBox --> LedViaw -
(IDLE, IDLE, IDLE, RESET)
insertMoney_100: User --> MoneyBox
(MoneyBox, IDLE, IDLE, RESET)
moneyView: MoneyBox --> LedView
(IDLE, IDLE, IDLE, RESET)
insertMoney_100: User --> MoneyBox
(MoneyBox, IDLE, IDLE, RESET)
moneyView: MoneyBox --> LedView

(IDLE. IDLE, IDLE, RESET)

insertMoney_100: User --> MoneyBox 1

(MoneyBox, IDLE, IDLE, RESET)

moneyView: MoneyBox --> LedView

(IDLE, IDLE, IDLE, RESET)

Trace File:

Next

( Prev ) ( Replay )
(open ) ((save ) ( Auo )
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sumManey = 5000
in_money = 0
coffee_minusMoney = 200
choiceButton = 0

b_refund = 1
b_button = 0
b_money = 1

b_sumMoney = 1
b_makeCoffes = 0
b_mikeCoffeeButton = 1
b_blackCoffeeButton = 1
MoneyBox.countMoney = 0
MoneyBox.refund_on = 0
Machine.time >= 10

REFUND_MONEY

refundMo neyl)

el @

insertMoney_1007
setAddMoney(100)

insertMone

setAdd Money(500)

minusMeney”

setMipusMorey(coffee_minus Mon eyl

10LE .

O

LedView

COFFEE_BTN_VIEW

moneyVi ew?
setMoneyView()

burtenView!

setButtonView(

makeCoffeeViewOF F7
setMakeCoffee View(false)

makeCoffieViewOn!
setMakeCoffeeView(liue)

D) MAKE_COFFEE_VIEW

MoneyBox
Machine
REFUND_COMPLETE
pu shedRefund! pushRefund?
i User minusMoney
0= 0
= lime = 0 pushRefund!
IDLE
I sumMoney >« 200 RESET
Hesmrtikonay; S001 butteniiew!
time = 0
ACTION_WAIT @
pushButton_Black Coffee!
i sumMoney > 30( pushBution_flackCoffee?
Insertv oney_1 00! pushButton_MilkCoffes? setPushedButton (200),
setPushedButton(300), time = 0
pushButton_M| Ik Coffee! time = 0
CHOICE_COFFEE
tme
makeCo OFF|
makeCoffee(cholceButton)
MAKE_COFFEE
FINISH
[‘
i
iv =
MoneyBox LedView User Machine

moneyView
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=0l Z2l Xl &=Lt
A[] not deadlock

HIOXHHI = & 583 0|&e =2 =& X ¢&tll.
A[] not sumMoney > 5000

st Mo =0l S0B=E M F0HE = U= AU SF0l LEDIE HAILY,
LedView.IDLE --> LedView.COFFEE_BTN_VIEW imply sumMoney >= 200

2940/ 2002 Ol MU IS BS 4 A= HEHZ BT

A[] Machine.ACTION_WAIT imply sumMoney >= 200

HI &HIIHES F2H 6 = HUIJt Li2L.
Machine.MAKE_. COFFEE --> Machine.FINISH imply Machine.time > 6

LHSH0| ASMHE SEO0| EtE=C
MoneyBox.IDLE --> MoneyBox.REFUND_MONEY imply sumMoney > 0

HIE S 5 &0 2HOI UL, 10= OILHAI THE HILIE O Ol& &KX &2
LI Xl =& its &2 0

Machine.ACTION_WAIT --> MoneyBox.REFUND_MONEY imply
(Machine.time >= 10 && sumMoney > 0)
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Overview

A[] not deadlock

A[] not sumMoney > 5000

LedView.IDLE =-> LedView.COFFEE BTN VIEW imply sumMoney == ZQ0Q
A[] Machine.ACTION WAIT imply sumMoney == Z00

Machine.MAKE COFFEE --> Machine.FINISH imply Machine.time > 6

MoneyBox, IDLE ==> MoneyBox.REFUND MONEY imply sumMoney > 0

Machine.ACTION WAIT =--> MoneyBox.REFUND MONWEY imply (Machine.time >= 10 && sumMoney > 0)
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